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Answer any 3 questions. Each question carries fourteen marks. (3x14=42)
OIRR)TICTR Sty TZNen evgos. I803eomd B3N 14 eosmied.
7. a) Explain the benefits of achieving convergence with IFRS. . ”/@

IFRS & 03cbg 2deamonss somrae svosmmom wedpennva Hmo. /-
b) Explain in brief any two International Financial Reporting Standards. _
CARYTRTAL TR oIV D SHFE 3O TWRENT) BodTamon =04,

8. a) Briefly explain the disclosure of EPS Ind-AS-33.
Ind-AS-33 EPS & @wﬁaﬁ@m& m:;::-;mn QPO
b) Mention the disclosure requirements of operating segments under Ind-AS-108.
Ind-AS-108 T soc3mre3gsEos) Fonne COBRAEIeve @saﬁma;* SVEG D,

9. a) A Ltd. was taken Machinery on lease from N Ltd. The information is as under.

Lease term 5 years, fair value at inception of lease Rs. 25,00,000. Lease
rent Rs. 6,50,000 p.a. at the end of year, guaranteed residual value Rs.
1,25,000, expected residual value Rs. 4,00,000, implicit interest rate 15%.
Calculate the value of the lease liability. Discount rate at 15%.
Year : 1 2 3 4 5
Present value: 0.8696 0.7561 0.6575 0.5718 0.4972
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